

6-6

$$\Delta p = f(d, l, k, \rho, \mu, v)$$

فرضت نویسی $\rightarrow \Delta p = f(d^a, l^b, k^c, \rho^d, \mu^e, v^f) \Rightarrow$ چون رابطه مناسب $b=1$ است.

ایجاد $\rightarrow \Delta p = FL^{-2}, d=L, l=L, \rho = FL^{-4} T^2, \mu = FL^{-2} T, v = LT^{-1}$

$$\Rightarrow FL^{-2} = L^a (L) (FL^{-4} T^2)^d (FL^{-2})^e (LT^{-1})^f$$

$$\begin{cases} F: 1 = d + e \\ L: -2 = a + 1 - 4d - 2e + f \\ T: 0 = 2d - f \end{cases} \Rightarrow a = f - 3, e = 2 - f, d = f - 1$$

$$\Rightarrow \Delta p = \frac{\rho \mu^2}{D^3} \left\{ f \left[\left(\frac{D \rho v}{\mu}, k \right)^f \right] \right\}$$

(5)

$$\Delta p = f(D_1, D_2, v, \rho, \mu) \quad \Delta p = FL^{-2} \quad n=6, j=3 \quad \boxed{6-11}$$

$$D_1 = D_2 = L, v = LT^{-1}, \rho = FL^{-4}T^2, \mu = FL^{-2}T$$

$$n-j=3 \Rightarrow \begin{cases} \pi_1 = \Delta p D_1^{a_1} v^{b_1} \mu^{c_1} \\ \pi_2 = D_2 D_1^{a_2} v^{b_2} \mu^{c_2} \\ \pi_3 = \rho D_1^{a_3} v^{b_3} \mu^{c_3} \end{cases} \Rightarrow \begin{cases} \pi_1 = \frac{\Delta p}{D_1 v \mu} \\ \pi_2 = D_2 / D_1 \\ \pi_3 = \frac{D_1 v \rho}{\mu} \end{cases} \quad (5)$$

$$n=4, Q = L^3 T^{-1}, H = L, g = LT^{-2}, v_0 = LT^{-1} \quad \boxed{6-18}$$

$$j=2 \Rightarrow n-j=2 \Rightarrow \begin{cases} \pi_1 = H g^{a_1} Q^{b_1} \\ \pi_2 = v_0 g^{a_2} Q^{b_2} \end{cases} \Rightarrow \begin{cases} \pi_1 = H \sqrt[5]{g/Q^2} \\ \pi_2 = \frac{v_0}{\sqrt[5]{g^2 Q}} \end{cases} \quad (5)$$

$$\text{ا) } F: \frac{F_0}{\mu} = f_1(v, \frac{\mu}{\mu}, D) = \frac{F_0}{\mu} = f_1(v, D), \frac{F_0}{v\mu} = f_2(\frac{v}{v}, D) \quad \boxed{6-25}$$

$$\text{ب) } f_2(D), \frac{F_0}{\mu v D} = f_3(\frac{D}{D}) = C$$

$$\text{ج) } F: h = f_1(D, \frac{\sigma}{\gamma}, \frac{\gamma}{\gamma}) = f_1(D, \frac{\sigma}{\gamma}), L: \frac{h}{D} = f_2(\frac{D}{D}, \frac{\sigma}{\gamma D^2}) \quad (6)$$

$$\frac{h}{D} = f_3(\frac{\sigma}{\gamma D^2})$$

$$\text{د) } F: \Delta h = f_1(t, \frac{\rho}{\rho}, D, \frac{\gamma}{\rho}, h) = f_1(t, D, \frac{\gamma}{\rho}, h)$$

$$T: \Delta h = f_2(\frac{t}{t}, D, \frac{\gamma t^2}{\rho}, h) = f_2(D, \frac{\gamma t^2}{\rho}, h), L: \frac{\Delta h}{D} = f_3(\frac{\gamma t^2}{\rho D}, \frac{h}{D})$$

$$9 = f(H, P, g) \quad g = L^2 T^{-1}, H = L, g = L T^{-2} \quad (32-6)$$

$$\left. \begin{array}{l} H = L \\ g = L T^{-2} = H T^{-2} \end{array} \right\} \rightarrow T = \sqrt{\frac{H}{g}}$$

$$g = L^2 T^{-1} = (H)^2 \left(\sqrt{\frac{H}{g}}\right)^{-1} = H^{\frac{3}{2}} \sqrt{g} \quad \pi_1 = \frac{g}{H^{\frac{3}{2}} \sqrt{g}} \quad (6)$$

$$P = L = H, \quad \pi_2 = \frac{P}{H}, \quad \frac{g}{H^{\frac{3}{2}} \sqrt{g}} = f\left(\frac{P}{H}\right) \quad g = H^{\frac{3}{2}} \sqrt{g} f\left(\frac{P}{H}\right)$$

$$F_D = f(D, v, \rho, \mu) \quad Q = L^3 T^{-1}, A = L^2, \varepsilon = L \quad (35-6)$$

$$g = L T^{-2} \quad \pi_1 = S_0 = F L^2 T^0$$

$$\left. \begin{array}{l} A = L^2 \\ g = L T^{-2} = \sqrt{A} T^{-2} \end{array} \right\} \begin{array}{l} L = \sqrt{A} \\ T = \sqrt[4]{A} \end{array} \quad \left\{ \begin{array}{l} Q = L^3 T^{-1} = (\sqrt{A})^3 \left(\frac{\sqrt[4]{A}}{\sqrt{g}}\right)^{-1} = A^{\frac{5}{4}} \sqrt{g} \\ \varepsilon = L = \sqrt{A} \end{array} \right.$$

$$\pi_2 = \frac{Q}{A^{\frac{5}{4}} \sqrt{g}} \quad \pi_3 = \frac{\varepsilon}{\sqrt{A}} \quad (5)$$

$$T_w = f(D, Q, \mu, \rho) \quad T_w = FL^{-2} \quad D = L \quad Q = L^3 T^{-1} \quad \rho = FL^{-3} T^{-1} \quad (51-6)$$

$$F = \frac{T_w}{\rho} \rightarrow F_1(D, Q, \mu/\rho) \quad L = \frac{T_w}{\rho D^2} \rightarrow F_2\left(\frac{Q}{D^3}, \frac{\mu}{\rho D^2}\right) \quad \mu = FL^{-2} T$$

$$T = \frac{T_w}{\rho D^2} \left(\frac{D^3}{Q}\right)^2 \rightarrow F_3\left(\frac{Q}{D^3}, \left(\frac{D^3}{Q}\right), \frac{\mu}{\rho D^2} \left(\frac{D^3}{Q}\right)\right) \quad \frac{T_w D^4}{\rho Q^2} = f'\left(\frac{VD}{Q}\right)$$

$$\left(\frac{VD}{Q}\right)_m = \left(\frac{VD}{Q}\right)_p \quad \frac{Q_m}{Q_p} = \frac{D_m V_m}{D_p V_p} = \frac{D_m}{D_p} \quad \left(\frac{T_w D^4}{\rho Q^2}\right)_m = \left(\frac{T_w D^4}{\rho Q^2}\right)_p$$

$$T_{wp} = T_{wm} \left(\frac{D_m}{D_p}\right)^4 \left(\frac{Q_p}{Q_m}\right)^2 \left(\frac{\rho_p}{\rho_m}\right) =$$

$$T_{wm} \left(D_m/D_p\right)^4 \cdot \left(D_p/D_m\right)^2 \cdot \left(\rho_p/\rho_m\right)$$

$$T_{wp} = T_{wm} \left(\frac{D_m}{D_p}\right)^2 \left(\frac{\rho_p}{\rho_m}\right) =$$

$$T_{wp} (0.17) \left(\frac{0.12}{0.13}\right)^2 \cdot 1 \rightarrow T_{wp} = 0.1076 \checkmark$$

$$V_m = \left(\frac{V_m}{V_p}\right) \left(\frac{D_p}{D_m}\right) V_p = \frac{1}{50} (15 \times 1) = 0.3 \text{ m/s} \rightarrow \checkmark$$

$$V_m = \left(\frac{V_m}{V_p}\right) \left(\frac{D_p}{D_m}\right) V_p = \frac{1.46 \times 10^{-5}}{1.12 \times 10^{-6}} \times \frac{1}{50} \times 15 = 3.91 \text{ m/s} \rightarrow \checkmark$$

$$\frac{F_{Dm}}{F_{Dp}} = \frac{\rho_m}{\rho_p} \times \left(\frac{V_m}{V_p}\right)^2 \left(\frac{L_m}{L_p}\right)^2 = 1 \times \frac{0.3^2}{15^2} \times 50^2 = 1 \rightarrow \checkmark$$

$$\frac{F_{Dm}}{F_{Dp}} = \frac{\rho_m}{\rho_p} \times \left(\frac{V_m}{V_p}\right)^2 \left(\frac{L_m}{L_p}\right)^2 = \frac{1.23 \times 3.91}{999 \times 15} \cdot 50^2 = \frac{1}{4.78} \rightarrow \checkmark$$

$$v = f(h, g, \rho, \omega) ; v = LT^{-1}, h = L, g = LT^{-2}, \rho = FL^{-3}T^2 \quad (4.41)$$

$$M = FL^{-2}T$$

$$F: \underbrace{v}_{LT^{-1}} = f_1\left(\underbrace{h}_L, \underbrace{g}_{LT^{-2}}, \underbrace{\rho \omega^{-1}}_{L^3 T^2}\right), \quad L: \underbrace{vh^{-1}}_{T^{-1}} = f_2\left(\underbrace{\frac{gh}{T^{-2}}}_{T^2}, \underbrace{\rho \omega^{-1} h^3}_{T^2}\right)$$

$$T: \underbrace{vh^{-1} \sqrt{hg^{-1}}}_{T^2} = f_3\left(\underbrace{(\rho^{-1} h^3)(gh^{-1})}_{T^2}\right) ; \quad \frac{v}{\sqrt{gh}} = f_3\left(\frac{\rho gh^2}{\omega}\right)$$

مقادیر داده شده برای متغیرهای بعد از نسبت می آوریم

$\frac{\rho gh^2}{\omega}$	$3,3 \times 10^{-4}$	$15,4 \times 10^{-4}$	$29,8 \times 10^{-4}$	55×10^{-4}
$\frac{v}{\sqrt{gh}}$	1,41	1,41	1,41	1,41

تغییری بعد از اول به
تغییر واصله نسبت

$$\Rightarrow \frac{v}{\sqrt{gh}} = 1,41 \rightarrow \underline{v = 1,41 \sqrt{gh}}$$

5

$$q-fv) \quad \delta = f(l, A, \rho, v, E) \quad \delta \doteq l \doteq L, A \doteq L^2, \rho \doteq FL^{-3} T^3, v \doteq LT^{-1}, E \doteq FL^2$$

$$\left\{ \begin{array}{l} l \doteq L \\ v \doteq LT^{-1} \doteq l T^{-1} \end{array} \right.$$

$$\rho \doteq FL^{-3} T^3 = F l^{-3} (l T^{-1})^3 = F l^{-3} l^3 T^{-3} = F T^{-3}$$

$$\left\{ \begin{array}{l} L \doteq l \\ T \doteq l v^{-1} \\ F \doteq \rho l^3 v^3 \end{array} \right.$$

$$\left\{ \begin{array}{l} \delta \doteq L \doteq l \\ A \doteq L^2 \doteq l^2 \\ E \doteq FL^2 \doteq (\rho l^3 v^3) l^2 \end{array} \right.$$

$$\left\{ \begin{array}{l} \pi_1 = \frac{\delta}{l} \\ \pi_2 = A/l^2 \\ \pi_3 = E/\rho l^5 \end{array} \right.$$

$$\frac{\delta}{l} = f\left(\frac{A}{l^2}, \frac{E}{\rho l^5}\right) \rightarrow V_m^* = \frac{E_m}{E_p} \frac{\rho_p}{\rho_m} V_p^* ; V_m^* = V_p^* ; V_m = 10 \text{ Km/hr}$$

⑤